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General Instructions:

Read the question paper carefully.

This paper contains 12 questionsin 4 pages.
All the questions are mandatory.

Write the question number properly.

I. Multiple Choice Questions (choose the correct awer) :- (5)

i. Art of making a map is called

a. Cartography  b. Bibliography c. Mimeographd. Seismology

ii.Lines on a globe running from east to west are

a. Parallels b. Longitude c. NerthHemisphere d. Pole

iii. In the villages people dispose of their hdusle waste in

a. Compost Pit  b. Landfills c. DispoBé#bk d. Open areas
Iv. Violent storm with very strong wind is called
a. Cyclone b. Earthquake c. Typhoons d. Tsunami

v. Which of this lies in the Southern Hemisphere ?

a. Tropic of Cancer b. Equator c. Primeriglian d. Tropic of Capricorn
Il. Read the passage given below :- (5)

Martin Luther King (Jr.) was born on 15 January 982 Atlanta, the southern state of Georgia in UBArtin
Luther King was highly influenced by Gandhiji's peiple of non violent agitation. He visited Indra1959 to
pay homage to Gandhiji and to understand the mgaiiSatyagraha Movement. He adopted Gandhiji’'s non
violent methods of protest and demanded equalityhi® Blacks in USA. Blacks gave him tremendougpsufp
In August 1963, they joined him on his march to Wagton. The government had to finally stop disanation
in education, employment and public places. A Ya@r in 1964, he received the Nobel Prize for peat
1968, he was assassinated by a white AmericannBus short span of 39 years of life he was ablgive a
whole race of people to live with dignity.
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On the basis of your reading answer the following gestions by choosing the correct answer-
I. Martin Luther King was highly influenced by Ganjis principle of agitation.
a. violent b. non —violent struggled d. poor

ii. Martin Luther King (Jr.) was assassinated by a .

a. White American  b. Indian c. Gandhij d. Bhagat Singh

iii. In 1964, Martin Luther King (Jr.) received the for peace.

a. Oscar b. Nobel Prize adha Bhushan d. Independent Spirit Award

iv. Many joined Martin Luther on his nfato Washington.

a. Whites b. Indians Peasants d. Blacks

v. In year Martin Luther visited Indiautaderstand the meaning of Satyagraha.

a. 1920 b. 1947 c. 1959 d. 1950

[ll. Name These :- (6)

a)l was a company set up by the British traders -
b) | am caused due to lack of water -
c) The ratio between the actual distance on thithEgad the distance on the map is known as a -

d) Another name of Revolt of 1857 -
e) Tropic of Cancer can also be written as -
f) Acute scarcity of food leads to this -
g) +H+++ symbol stands for-

h) I am the largest continent -
I) These people says that we should live in harmwitly the environment-
j) A lot of earthquake in India occur in these rasg
k) An example of bio- degradable waste -
l) This is an act of cutting down and burning tree

IV. Write definition for the following :- (4)

a. Environment
b. Revolutionary
c. Democracy
d

. Grid
V. Complete the Verdict of Gandhiji :- 3)
In 1915 | returned to India from (a) . | fought against (b) over
there. After coming to India, | was touched by plo®r condition of the common people. | decideddbtf&
oust the (c) but my method was éifiterl chose (d) &
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which means using truth gnd (f to fight injustice. | appeale

to the people to resist all wrong openly, peacgf&lfearlessly.

VI. Write the major events of the freedom strugglen India :- 3)

a)
b)
c)
d)
€)

f)

13 April 1919:
1905 :
1920 :
1942 :
1929 :
1930 :

VIl. Complete the flow chart :- 3)

Caring for our environment

Types of waste

a)
b)

Ways of disposing waste
C) The Three R’s
d) e)

f)

Reduce

VIII. Put on your thinking caps and support your answer :- (6)

a.
b.
C.

The length of the parallel increases as we movey &man the poles towards the Equator. Why?
Indian farmers and weavers were unhappy with tinepemy Raj.
Priya has lost case in the High Court. However,&¥es not think of it as final judgment. Why?

IX. Give a brief description to your answer : - (6)

~PoooTy

Is a map more convenient to use than a globe? Suyma answer.

What are the natural disasters?

| am caused due to excess of water in an areaahjstwo ways to prevent me.
Write any 2 reasons for the failure of the Revoli1857.

From where we got the word ‘Globe’ and what doesgan?

India fought against British to attain freedom. WHaes freedom mean to you?

X. Answer in detail :- (12)

o

~oooo

A map is difficult to understand without its langes. Name these languages & explain any one in two
points.
Differentiate between Parallels and Meridians.(N@anany 2 points)
Why does an earthquake occur and how is its irtierestorded?
What was the Swadeshi Movement?
What is a coalition government?
Why did the Indian soldiers refuse to use Eedield rifle?
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XI. Long Questions :- (6)

a) What do you understand by INC. Explain it in8Dwords.
b) Write any 3 differences between Lok Sabha & R&wgbha.

Xll .l1dentify the rulers associated with the givenplaces :- (1)

a) Kanpur
b) Jhansi
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